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Translate Algebraic Expressions

1) Take away 4 from p
2)5isaddedtoq

'3) 3 times d

4) x minus 6

5) Product of 2 and q
6)7}nmusg

7) Sumofxand 7

8) 3 divided by ¢

_9) w is added to 3

10) ¢ divided by 2

1of2

]

=]

Math-Aids.C i
ath-Aids.Com E}i}«_




ﬂ&/z%ﬁz Z /ZL 7Z;/M
7 —

Lod L

0, 95 + A5 &

@ gfﬂ + 7}(9 =

: _

Q 0y - 2 -

B Sk 4 26 -3 =
& L + 3¢ —3f -
@ 20k +36 - b =
© Liff P

22 e 32 + L/z =

© \3 ~ 9] + éd =



O sp -7 -
@ g0 _qf -
@ k-3
(%) ~Sp ¢ Tp-

@ “ZP -i-gf? --5-]0:

Sy o
feved 3 don] ool pol i
&70//4% ﬂ“&f .éa/mﬂﬁd
7 Sa +2a b -

Q) 4h - 34 +5a=

[O0x + 25 -3y =

@ (2p » 3 +24 +Sa-
E 74 - 5d 3. ¢, -

e




@/2l+27 32 +5 -

D 75 + 3o +24 +y,-

W i +3L -5L-

@ (2o = 1Sa + 34 4 75 -
Sm + Im?2 2, —Om 2
a t 3 Y, bz
12 ffjf-BAaJQj-Sm/,,:
B 10w - 7h + 2k yuw =
U sh -3t ;2 .7,



Name :

Score :

Teacher : Date :
Combining Like Terms

1) 8-5b+6b 6) 2b-5b-3
2) 3s+4s 7) 2m+m
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CHAPTER 4
| Basic algebra

@Page 34

UNITI:'Addition and subtraction of like terms

Question1  Add the following expressions.

a 3x+8x= b 5x+1lx=

C Ix+7x= d 18x + 9x =

e 16x+ 25x= f 30x+ 14x+x =

g 6xy+8xy = h 9mn + 11nm =

i 15a+16a+7a= j o8x+3x+7x=

k 1502 + 26a® + a* = ___. L 7p+6p+5p+p=
QuEsTION 2 Subtract the following expressions.

a ba-za= b 15a-7a=

C 8a-3a= d 17x-2x=

e ldm-6m-m-= f 8y-3y-y=

g 15x-7x-2x= h 6xy-3xy-xy=

i 25x% + 7x% - 4x% - 6x% = j lay-3y-y-2y=
k 8x-2x-x= Il 19p-3p-5p=

QuesTion 3 Simplify the following expressions by adding or subtracting.

a 8a+7a-3a= b 5x+6x-x-2x=

¢ 5a+1bka-6ag= 8a+5a+3a-2a=

d
e 19y +2xy - xy = f 7mn+3nm-2mn=
h

92 + 7a% - ¢ - 20 =

g 9x%+8x%-3x*-5x=

8t+6t+3t-t=

i Bx-2x+3x-x= j
k 6m+7m-2m-m-= l 8a+16a-5a-7a=
! QuesTion 4 Simplify the following.
a 9x+3y-6x+2y= b 20a+3b+8b-11a=
c 6m+3n-n-m= d 6x* - 4x® - x2+ 3x% =
e 8a+3b+2b-6a= f 10a+4a-5b-b=
g 7y+8y-3x-dbx= h 6xy + 3yx — xy - 2yx =
QuesTioN S Simplify the following expressions.
a 15-8x+7-2x= b 8m+3n-5m=
c 18x-3y+y+x= d 2x2+9x% - 7y2 =
e 10m+3n-2m-n= f 19xy + 6yz - 13yx =
g 12a+6b-3a= h 6a+9b-3b-3a=
i 9t+18-3t-15= j 6ab+3ba+ 9ab =
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@ Page 31

UNIT 2: Multiplication of pronumerals

QuesTion 1 Multiply the following expressions.

a 2x5a= b 3x6b =

¢ 8x9y-= d 7x3y =

e (-6)xab= f (-3)x(-2a) =
g 3ax(-b) = h (-2a)x(-3b) =
i (-6x)x(-3) = i (9ab)x(-5a) =
k (~2a)x(-8a) = L (-6x)x(-2x) =

QuesTioN 2  Find the products of the following.

a 6ax3b - b (-6x)x(-x) =

C 5xx8y = d (-8y)x(-y)x3=

e 9ax3b= f 6ax(-a)x5 =

g 6y'><8y= h tx(-3t)x(-2) =

i 9xX3yx2x = j 5ax(—6ab) =

QuesTioN 3 Work out the following products.

a 2axab= b 3x6ax5=

c 5ax6bcxa = d abxbcxca =

e 9abx(-6bc) = f 6ax7ap =

g (-8x)x5 = h 3xx2yxy =

QuesTion4  Find the following products. .

a 8axbb= b (-7k)x(-2k) =

¢ 9xx(-8y)xxy = d 8Saxxaxax =

e (-6m)x(—6m) = f —6tx4mx(-m) =

g yx-yx-3y-= | h (-5x)x(-2)x(-3x) =

QuesTioN B Simplify the following expressions. |

a 8abx(-ab) = b 7x3ax(—4a) =

¢ 9xxyx(-2x)= d 2ax3bx5c =

e (—a)x(-2a)x(-2b) = f (=x)x(-y)x(-x)=
h 6ax(-3a)x2 =

(=}

(-5p) % (-5p) =

Chapter 4: Basic algebra
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Basic algebra
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UNIT 3:Division of pronumerals

QuesTioN1  Work out the following divisions.
18a 9pg 12m
—_— = b h———— e =
* 3 ¢ 1sm?
q 15x . 2Ly _ " 18a° _
5 7x 3a
12a poo36x° -
9 6 4x 10y

QuEsSTION2  Find the following divisions.

a 16x+56x=

c 12mn=+4m =

e L5x+-5=

g 8x=+2x

I

i 32xy +8x

k 27ab+9a

I

QuesTioN 3  Divide the following algebraic expressions.

a (—24)x+8-=

¢ 38x%y+19x% =

e 27x%y?+9x%y =

g (-52x")+(-13) =

i 20pg+—4p =

QuesTion 4  Simplify the following.
a 28x+-7x =

32x% +(—4x) =

N o}

m

(—30x) +(-15) =

g (-25y°)+(-5y)

QuesTiIoNS  Find the answers to the following.

a 24ab+(-6a) =

¢ 15ab -+ —15ab =

e mnt+mn+n-=

g 3abc+bc+ba =

20

b
d
f

~36xy +-9x =

64m? +~8m =

(—48ab)+(~6a) =

7202 +9a =

15ab + (-5a) =

16x%y + 4xy =

68xy + 4xy =

(-18x)+9x =

(-48m*)+(~8m*) =

(—64ab)+(—8a) =

(—24x3y2) + (—szyz) =

36Xy +4x =

15a%h% + 15abc =

(-16x2y) = (-8xy) =

T
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UNIT 4: Multiplication and division of pronumerals

QuesTion 1 Multiply the following.

a 8ax2a = b 5ax4ax3c =

¢ 5ax3a-= d 24a°x4ax3a =

e 9xx(-3x) = f 6ax3ax(-2a) =

g 15xy x3x° = h 5yx(-3y)x(-y) =

i 8ax3bx4a = j 8x9axa®=

k abxa®x3a = L 3abx3abxab =

QuesTion2  Divide the following expressions.

a 15a+3a = b (~72a)+(-8a) =

¢ 60p+10p = d 50ab+2ab =

e 8pg+(—4p)= f 35x%+—6x =

g 16ab+(—4a) = h 28a%b+(-7ab) =

i 20p+5-= j 64x’y’z* +16x°yz =

k  (-10x)+(-2x) = L 8lmn+(-9m) =

QuesTion 3 Work out the following divisions.

a (-27x%)+(3x%) = b 15ab+(-3a%) =

¢ 16xy+(~16xy) = d 35a°b%? +5abc =

e 24ab+4a+2b = f 56t°+8t’ =

g 48x°y% +4xy +3x = h 10ab+—2a =

i 15xy +6xy = j 15abc +-3bc =

Question4  Simplify the following expressions. |

a bax-3a= b 4ax5bx2c =

c 8xx(-7x) = d -8ax3ax-2a =

e 15ax(-2ab) = f 10xx2yx(-2x) =

g 18a°x2ab® = h abxa’t* x—ab =

i 8xxyxy’= j -5xx3xy =

QuesTion 5 Simplify the following. |

a 8xx9y 15ax8b _ & 8ax5b _
12xy 10ab 3ax4b

d (6ab) x ab ) (3a)° x (4b)’ _ " (—2x) x (-3) x (-5x) _

9a’b 24ab —6X X 5 —

Chapter 4: Basic algebra
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Four operations with integers @
'QJ Pages 16-17

UNIT 7: Order of operations

QuesTioN 1 Follow the correct order of operations when finding answers to these.

a 2+3x5 b 12-5x3 e -3+21+3
d 3x4—6x2 e 3x7+4x8 P <J-Dx-b
g 16+8-3 h 5-12+3 i —5x20+4
{ Dha647 k 28:7-18+2 | 3x-Busnd

QUESTION 2  Remove the grouping symbols and simplify.

a (-5+8)x2 b B3-7yx(2-5 c 8+(7-3)+-=2
d 12x(-7+2) e 56-2x(5-9 f (6+1d)+(5+1)
g (-3+9)+(2x3) h 36+(1-4-6) i -11-C+3x4)

QUESTION 3 Find answers to the following.

g T2L 53 =) x-8 b 9x[6—(5-8)] ¢ [4+Q2-Tx31x(2+T)
d 12-(9+4)x3x-2 e [(5+8)x(3—4)+6]x-1 f 724 (-8+49)-56+(-2-6)
g [B+12+(2+8)]-5 B Fl={24 3T % 2 i 3x[6x@-7)+(=2+11)]

QuESTION 4 Insert grouping symbols to make these statements correct.

a 5+7+6=2 b 3+5x-1=-2 ¢ 5x4-6x3=-30
d 6+3x5+-7=-3 e 44+7-9x2=-12 f 54+-9-2+7=-15
g 4xT-5x-2=66 h 7-10x3-8=15 i 10-7+4x-3+12=4

Chapter 3: Four operations with integers 29
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UNIT11:Problem solving and algebra

Find the perimeter of each of the following shapes.

1 2 2 3 3x

3x+5

3x+2 5x

Find the area of each of the following shapes.

4 5 T 1 6 ] : L]
5x + 7 L 435 X * 2x

7  Find the sum of 3x and 5y.

8 What is the product of 8m and 5n7?

9  Find the average of 6x, 2x and 7x.

10 Find an expression for 5 more than the sum of 3 and 2x.

11 Find the area of a square with side length y metres.

12 If the first number is 4x, write the next consecutive integer.

13 Increase 9x by 10 and then decrease this result by 2x.

14 Find the volume of a cube with side length 2x cm.

15 Find the number (x - 2) less than 4x + 5y.

46




Four operations with integers )
UNIT 6: Indices o reves 1o

QuEsTIoN 1 BEvaluate the following.

a 2= B 5= g ==

4 = e 4= £ (-lp=
g &= h 8= i (-1)7=
] = k (-29= 1 ()=
m 2°= n (-3)'= o (2)=
P 3= q 5= r (=5)7=

QUESTION 2  Evaluate the following.

a (-1)°= b (-5)= ¢ (5P=

d ()= e (2= £ 2x(4y=
g (-1)¥= h (-103= i (8=

i oY= k (2= 1 —4x(3)y=
m (9)?= n (7)= 0 (-2?x(-5)2=
p (4r= q Y= r —6x(=3) =

QuESTION 3 Calculate the following.

a (22Px(-3)= b (-97-(-4= ¢ (A4P+(1)r=
d #+(-5)32= e (=572 + (=10 = f (82 +(2)=
g CIP+(3)= h (72 x(-1y= i (5 +-5=
i 8+(2r= k (-3)—(-5)= I (6% (-2)*=
m 7:x(-3)*= n 6+(2)P= o (-10)*+10°=
P (27+ (2= q (-2)+ (3= r 8+ (2=

QUESTION 4 Evaluate the following.

a 9+3-42x2= b (4y:—4= ¢ (B)p+-3=

d 4x(2P+5x (1= e (-10pPx5= _f pe2=

g 2x10°+(-10)2= ___ h (5P+4x-10= i (-10Px(-10)=

j —6x(-10Px(-1= Kk (82+2x-20= _____ 1 (5P+(B)}=

m (97+3x-6= N 3x(AP+8x(2f=_____ 0 (-6)P—(5)=

p (B)P+3+(-1p= ___  q (lOP+EI0P—(2=___ r —5x(-102x-10=

28 T



Basic algebra

Simplify the following

UNIT 5:Indices
products.
b 6p°xp’=
e 8a’x4a’ =
h 9a°%8d" =

k a‘b*xa’h’ =

Simplify these divisions.

b 36m°®+9m*=
k15 s kll’] -

e
h 487 +124° =
k

m®n® «m*n® =

Simplify these expressions.

o ()
e () -
h (40%) =
k (9p) =

Use index laws to simplify the following.

Simplify the following.

QuesTion 1
a a*xad’=
d mxm®=
g xxx’=
i xPxx® =
QuEsTION 2
a 012 " aB -
d 015 s a? -
g a®sa® =
] mlﬁ ng -
QuESTION 3
3
: () -
2
d (m) -
6 4
g (x°) =
. 7\6
i (o) -
QuesTioN 4
a o'
d m°=
g «=
QuEsTION B
a xW0+xl=
d m’xm‘=

g 6x*x5x® =

QuEsTION 6
a 3(0"*)3 x 4g°
d (602)2 + 4a’

g (XS)2 +x' =

40

b (2){){J =
. (o) -
h o (4mn) =

b p°q+pg=

e (8p2)2 =

h 9m*xm?n =

Use index laws to simplify the following.

Il

b (20b2)3+4(ab)2= o

e (8a) +(4b) =

h a’bxa’bhxab =

—n

@ Pages 35-36

y3xy8=

x"xx*xx? =

10p° x 8p° =

Ix2 x 4x°y° =

20a°h" +5a"b° =
126°8° + 6a*h* =
36X12 8 T(_4)(2.}’7) =

64a%b® +8a%h” =

{e]
>
w
I

012+08%az _
15abx3axb =

28x%y +7x =







Basic algebra

UNIT 12: Applying the distributive law to expand

algebraic expressions
QuEesTioN 1 Expand the following expressions.

a 5(a+3)=

d -5x+7)=

g 2a(6+3a)=

J Sx(x-3)=

m —2(a+5)=

p 3x(2x-2)=

b

q

6(x-7)=

9(2a+5)=

x(2x-5) =

Tn(2n —3) =

-1@3p-4) =

—(x+9) =

QuEsTION 2  Expand and simplify by collecting like terms.
b 6(a-5)-5a=

a 3x+5+6x=

d 2x-3)+3x+7=

g 5x+3(10-x)=

QUESTION 3 Expand and simplify.

a 3(x+2)+4x-2)=

d 8(x+3)+2x-1)=

g Sp-6)-2p-1)=

Chapter 6: Basic algebra

b

6y(y +4)—2y* =

Ix+3(x—-2)=

8(m—3)+3(m—2)=

4x+3)-2x+1) =

pGp+6)-3(2p-3)=

) Pages 43-64

—2(6 +a) =
3(5x—9) =
m(6bm + 3) =
SBala-2) =
Sa(a—1) =

-Ay—7)=

4m - 3) +2m =

6(m—2)—3m=

om—-2m+1)=

5p-7+3(p+2)=

x(x+1)—-(x-3)=

2m+3m—-3)+7=

65
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UNIT6:Grouping symbols

QuesTion 1 Expand the following expressions.

o a 3(x+y)= b 5(2a+3b) =
L ¢ 4a+3)= d 6(8a-7b) =
L ¢ 8(m+3p)= f 3(5a—4m) =
- g 5x(x+8)= h 7(x-5) =
{  9a(a—2b) - j 12(ex-3) =
k 6m(2a+n) = L 15(3x-7) =

QuesTion 2  Write these expressions without grouping symbols.

p -3(x+2) =_ b —5x(2x+1) =

o ¢ —2(2x-7)= - d -2x(8x-3y) =

o o —3(4x—5) = | £ —y(x+y?) =
g -8(8x-9)= h —m(3m+8) =

e { —2x(x+1) = j —2n(8-5m) =

- k —3x(2x+5) = L —6t(2t—3) =
QuesTion 3  Expand the following expressions.

N 2 5x+7) - b 7(3x—11) =

— ¢ -3(4x-9) = d —4(2x+5) =
e 8(6y+3)= f —3a(5a+5) =

- g —x(2x+7) = h —m(8m—5) =
{  —2¢(3t+5) = j 8a(2a+3b) =

- k —8x(3x-5) = L 6p(2p—3m) =

o QuesTion4  Expand and simplify. 3
a 2(x+3)+5x = b 4(y+3)+7y+5=

B ¢ 5(x-7)-3x = d 9(p-7)-8p-7=
e 4y(y+3)-2yt= f 8x-3(x-2)=

_ g 9p-3(8-p)= h 5m+4(m—4) =

— i 9m(2m+1)—10m* = j 7(x-5)-3x+9 =
k 8(t—-3)-3t= L 6(x+8)-3(x-2) =

QuesTion®  Expand and simplify.
a 4(m+3)+2(m+1) =
£ ¢ 8(2x+7)+3(x+2) =
e 5(y+7)-
g 7(n—4)-2(n+2) =

310N Chapter 4: Basic algebra Loy 41

5(x +3)-3(x-1) =
8(2x +7) - 4(2x —5) =
*9(3x +1)—5(2x - 3) =
X(2x +3)-3(x+1) =

——~—
e~
=
S
I
L r = a o







Basic algebra

UNIT 13: Common factors

QuesTioN 1

a Sa+5=
d 2x+2=
g 3p+6=
jJ 4x-16=
m 2a+6=

p 8x-32=

QWUESTION 2
a 3a+3b=

d 7a+14b=
g y+oy=
J dx+4dy=
m 6x—-36=
p x-6=

S 2X¥—-4x=

QUESTION 3
a -3x+6=

d -6x+18=
g 3a+l12=
J 4y-8=
m -3p-9g=
QUESTION 4
a T7a+7b=
d 3m+15=
g Sab-—-ag*=
J 4-12a=

m 9m-36=

66
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b
e

h

b

= = = @©

=2

Factorise the following.

b

;o e

=

s B oo

=

8x—-8 =

6m+6=

4g+8 =

9 - 18 =

3m+12=

3a+15=

Factorise by taking the common factor out.

Sm+5Sn=

3l -9m=

Ox— 18y =

mp—3p=

3m+ 12m? =

8m—8n =

6pg — 12p* =

-S5x+10=

2x+xt=

~4a+ 16 =

2x-10=

—Sx-25=

4a—-20 =

6-6t=

Tm —14n =

-3-15p=

—4q—-20a* =

9 P ayeo e ue

c
f

i

Factorise the following by taking out the highest common factor.

3y-3=

Tm+7=

6x —9y =

S5a+20=

6n-24=

2a+ 14 =

6p—6q=
m*+ Tm =
3a-24b=
8x-32y=
Sy—y=
6x —3x* =

10x - 10y =

—Ax+ 8=

—6a + 24 =

—6a-12=
-8y —4dx=

—Ea =

9x -9y =
m*—4m=
8ab — 6a*b =
—3m-—6n=

—x-7=




Equations and formulae

UNIT4:Three-step equations

QuesTion 1 Solve the following three-step equations.

a 3a-7=a+5 b 8x+4=6x-8

W Pages 101-102

40 —-11=7a -17

d 7t+10=6t-5 e 12a+18=4a-14

g 3y+9=6y-3 h 4-3x=7-4x

QuesTioN2  Solve the following equations.

a bx+7=6x-8 b 30+10=24+a
d 8a-7=50-4 e x-21=8x-7
g 5m-3=2m+9 h 2x-14=x+10

QuesTion3  Solve these equations.

a 7a-14=5q+42 b 2x—-12=x-6
d 4y+1=3y-3 e gm—7=Tm+9
g 5y—-7=3y+9 h 2y+7=y+8

j 9t-9=10t+30 k  2t+5=5t+4

Chapter 6: Equations and formulae

2m—9=5m-15

6x—3=2x+13

14x —28 =32 -6x

5x +13=-5—-4x

S b6x—-27=3x+9

3x+4=2x-8

3y—-5=2y+7

35x +21=-28x —105

67
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UNIT5:Equations with grouping symbols

QuesTion 1 Solve the following equations.

a 3(x+2)=6 b 2(a+1)=8
d 5(4a—-3)=15a e 3(x+5)=18
g 5(2x+3)=35 h 3(m+2)=m+10

QuEesTIoN2  Solve these equations.

a 5(a-4)=70 b 7(x+8)=-14
d 4(x+3)=30 e —3(a-4)=24
g 5(a+4)= 4.(a ~3) h 6(x-7)=5(x-2)

QuEsTION3  Solve the following equations.

a 4(x+5)+x+15=0 b 6(x—3)=4(x+2)
d 4a+3)=5(2+a) e 333+7z15
g 5(m—1)=4(m+3) h o 7(t+2)=5(t+3)
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¢ 5(m-2)=25

f 4(a—4)=24

i 2(3x+4)=24

c 4(2t-1)=24

f 5(2x+3)=45

i 8(x-3)=7(x+1)

¢ 3(4a-2)=5(4a-2)

2a+5
3

9

i 4@+ +a+5=19
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UNIT8:Common factors

QuesTion 1 Factorise the following by taking out the highest common factor.

a Tx+7= b 10a-2= ¢ Jy+14=
- d 8x-4= e 3g+15= f 4x-12y =
o g 3y+3= h 5m+30= i 32x-28=

j 5a-5= k 6a-2b= L 5a+35=

QUESTION2  Factorise the following.

L a yi+3y-= b 6y°-3y%= c 6x'-3x% =
d 2mf+6m = e 8a°-t4a = f m?-9m =
g 8a°+24a = h 15y° -6y = i 16a°—8a =
. j x*+9x = k 9a°-6a° = Il 28x*—7x =

— QuesTion3  Factorise the following by taking out the highest common factor.

— a -3x-3= b —4y®+16 = c —6n-3-=

o d —-5x-40 = e -3x+27 = f —7t-14 =

o g -2m°—4= h —5m?+35 = | i —11x%-22 =
j -6a’+12 = k —8a°-32 = L —-13y+39 =

QuEsTION4  Factorise.

a —6x%—12x = b ~16x*—4x = ¢ —6x—9=

— ¢ d —8xy—-4y = e -9x’+27x% = f —15x*—5xy =
— @ 4 —6mn-3- h  —5x2y%+25xy = i —6mn+15m? =
— b Buztawy - k —9x%—15x = | —x—3yx =

— I QUESTIONS  Factorise the following.

_ a 8a+16b = b 5a-25-= C 8x—4y =
d 9a-9b = e 8-8t= f m*—é4m® =
o g 16ab—a? = h 14m-7 = i 16ab-8a% =
j  15xy? —5xy = k —6m—36= L —4m-12n =

- [ QUESTIOiN 6 Factorise the following.

o a 3a+3b+3c = b 16pg—7p = c —x*-7x =
. d 8x+8y—16z = e tx—x= f 15a+5b-10c =
1 ¢ sx-s8y=- h oy —y?= i 18x—9y+6=
j 16x-32y = k 15mn-3n = L 6a°+3a+9=
m m?-2mn = n 8pg-g°-= 0 —6x—6xy—12 =
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UNIT 10: Multiplication and division of algebraic fractions

QuesTion 1 Find the products of these algebraic fractions.
i RN, AR - R
4 3 . 4 b 5 6 2 3_#“7
LA a 3
_ 6 x m 5
5x 15
3 2x 57 x 2 18
2x  ¥° ab 16 5 y
R T B R = — X .
¥ 4 d’b L xy 25
QUESTION2  Divide the following algebraic fractions.
g sl ¥ .2¥ . p _8p
2 5 7 14 g 15
X 2x
d —+—= 5 16
3 5 B e f 2a 4 )
n n 5 4
¢ L. p XYL o 8
6 12 9 ‘27— 4_\/.24_1/:
50 16a T 6a 5a ab ac
] T w k T e — l —_— . ==
7 8 1 3 5 15
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| UNIT9:Addition and subtraction of algebraic fractions

QuesTion 1 Find the sum of these algebraic fractions.

X, X 3x 2x 9x 8x
o == g e
2 378" B 15 ' 15
= ,____‘_._.Wd.. a ey o x £ X = T i s ” y y =
e Bl g f L+da
d 9+9 e =Sor =9
3 - LA
X, x T T
e e & ot 3a a
5" 4 h 9+ g e o : +2 -
] 7 e B

. 3x bx 2m  5m 20 3a —
g iglt fpt St =R
5 7 9 5 7
" ——— ' *'—_"—"_-'_—h———_______g_‘h__ﬁm_ NN

QuesTion2 - Subtract-the following algebraic fractions.

5 3 3 77 11 1
S
6m. 2m T o
. 13 13 g B2 8x 3x
- , o . 15 15
’7 X X X X y y
X & hoX_X vy
* 37 8 12 12 18
3_X._i_ K 2a+1___a_= L 5x+1._f_=
¥ %0 10 7 14 4 12



Substitution

following expressionsifa = 2, b = 5andc = 9.

8).4+c 15). 14 -b 22). b+b
9).b-3 16).a+b 23).a+b+c
10).12 - a 17).c-b 24).b-a+c
11).b-4 18).b+c¢ 25).c-b+a
12). ¢+ 10 19).b-a

13).a+ 11 20).c-a

14).13 - a 21).c+a

Find the value of the following expressions if x = 12,y = 8 and z = 16.

1). 2x 4). by 7). 7x 10). 6x
2). 3y B). 3% 8). bz
3). 2z 6). 9y 9). 10y

These are trickier
11). 2x + 4 13).2z+9 15). 35 - 2z

12). 3y - 4 14). 40 - 4y
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QuesTion 1
d mn-=

2
e mnp® =

g m+n+p=

i mf-5p=

k mnp—mn =

i 3(2a+7)=

QuEsTION 2

a ba+7 =

c a°-9=

e 3a(a+4) =
g 5(a+6)=

i 5-g? =
k 3a2=
QuesTiON 3

a x+y=

C 2X+2y+2z=

J Ax+y+z=

e (x+y)i=

g X*+x2=

i (x-2)+y=
k (x-2)+8=
QuesTion 4

a 6ct-ab=

¢ abcd =

e bP+ct-gi=

g 6ab+ 7bc=

i 3abc+d-=

Ifm=7,n=4andp =12, evaluate the following.

UNIT 7:Substitution E rages samas
b mnp=
mén? =
f m+n+p®=
h 7Tm-p=
j m*+10+p =
| B —ig =

If a = 4, find the value of the following expressions.

b (a—5)2 =

d 85-4a=

f 50°+8 =

h &=

L (a+7)(a-7)=

If x=7.2, y=3.5 and z = 6.4, evaluate each expression correct to 1 decimal place.

b x+y+z=

d x¥*+y?-22=

f 3xyz=

by -

Ifa=3,b=4,c=5andd =6, find the value of each expression.

b a®+b+ct=

d ab-cd=
f 2-5=
h a®+b*-cd=
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UNIT 8:Equations arising from substitution in formulae

QuesTion 1 For the formula A = %bh, find h if:

a A=40,b=8 b A=35b=10 c A=18,b=6
d A=36,b=12 e A=32,b=8 f A=14,b=4
g A=24,b=8 h A=27,b=6 i A=20,b=5

QuesTioN2  For the formula A = %h(a +b), find h if:

a a=3b=5A=20 b a=3,b=7,A=15 € a=2b=8A=35
d a=4,b=6,A=30 e a=5b=7A=24 f a=9,b=11,A=50
g a=5b=9A=42 h a=4,6=8A=54 i a=5b=7,A=30

QuesTioN 3 For the formula C = 27, find rin terms of 7 if:

a—-C=14 b C=42 c (=78
d C=26 e (=54 f =90
g (=38 h C=66 i (=94

QuEesTioN 4 For the formula A = zr?, find rin terms of 7 if:

a A=10 b A=28 c A=57
d A=15 e A=32 f A=63
g A=20 h A=46 i Am72

QUESTIONS  For the formula P = 2L + 28, find L if:
a P=50,B=8 b P=60,8=10 C P=48,B=6

d P=80,8=12 e P=72,B=6 f P=108, B=24%

Chapter 6: Equations and formulae ' . ‘ 71




CHAPTER 6
Equations and formulae

@ Pages 99-100

UNIT 1:One-step equations (addition and subtraction)

QuesTion1  Solve the following equations.

a x+3=11 b a+9=25
d b+7=17 e m+3=23
g k+1=36 h y+73=22

QuEsTIoONZ2  Solve the following one-step equations.

a p-3=15 | b x-5=18
d n-1=5 e t-4=-7
g y+7=9 h x-3=28
j x+5=19 k a-3=58

QuEsSTION3  Solve these equations.

a a+7=12 b n+6=8
d b+5=15 e p-8=7
g m-9=18 h t-2=23
jox-7=31 k a-7=25

64

" y-5=16

n-9=21

t-5=17

m-=6=31

a-3=-8

7+a=24

m-1=-10

x+3=38

a+5=27

i y-6=28

12 +x=41
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UNIT2:0ne-step equations (multiplication and division)
QuesTion1  Solve the following one-step equations.
a 5a=35 b §=3 8y =56
d 2-3g e =9 9x = —45
3 5
t
g 6m="54 i o = 8t =72
QuesTioNn2  Solve the following equations.
%
a §=8 b 7x=-49 8x = 88
d 4x=48 e —=-3 %:—5
a
g 9x=-36 h 7=9 11x =121
QuesTiIoN 3  Solve these equations.
a 3q=21 b —7x =49 J%:S
y m
d £=-6 ~ =4 — 42
3 e P Ix=-4
t
g 5b=-125 h -2x=-18 —£=12
. Y n
=12 D=4 ~6x =
1 5 k 5 X = 54
Chapter 6: Equations and formulae




Solve these equations.
REMEMBER.....
Do the opposite of the sign.

1. m-9=16

2 d+8=11

3. 8z =64

5. h—-17 =34

6. 6t = 396

7. g+542=839

Il
B

oo

8. 9e =729

10. 56 +r=281

11

12.

13.

14.

15,

16.

17.

18.

19.

20.

z+ 678 =876

q-73=72

23s =161

w—976 = 1025

p+45=63

b — 893 = 467

r—81=119

21:

22,

23.

24.

25.

26.

27

28.

29.

30.

84 +h =192
X — 87 = 47
d+113=2824
==2

2q =62
§=35

28 +s =119
z-58=91
~=13
6c = 54
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UNIT 3:Two-step equations

QuEesTion 1 Solve the following two-step equations.

a 2x+3=7 b 3x-5=4
6 _

a4 legs g FoE .
5 5
a

g E—2=3 h 4x-5=19

QuesTioN2  Solve the following equations.

M| =

a 2x+7=31 b 6y-4=26
a
d ==4=8 e 7p-6=29
1
g 5a-36=7 h 80—2r2—=5
QuEsTION3  Solve these equations.
X
a b5x-5=20 b Z+9:13
d 3y+6=24 e 8y+4=-4
-2
g 3t-1=8  PoEog
4
j 2y+9=-3 k 3p+7=-14

66

—do

9
@ Pages 1uu-101

5y -10=5
19=3a-38
x~5:6
7
3k+1=22
X gt
3
76 +0.4=6.7
x—2=7
5
Ty -6=22
3x -3 =24
2x-5=11
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UNIT6:Equations with fractions
QuestioN1  Solve the following equations.
. x_1 , o1 RET
3 2 5 3 5 2
d 24215 e 24 03 Fofeil=g
3 3 5 3 4
5 5 5
QuESTION2  Solve these equations.
4 3 7
p 3m—4=20 & m~5:6 P :-}a—J:6
4 4 4
3p-9 3p-7 Sx—4
=6 h 2=y =12
QuesTioN3  Solve the following equations.
a 3X+2:8 b 2—X+£:10 C —6p_5=8
4 I 2 — 2
. g Pogey g 2lE g
4 6 15 3
g — =73 h 8£+3=7 1 §E"‘*‘1=9
2 6 15
i 12y k K2 . Lag—m
3 5 6
Chapter 6: Equations and formulae . ‘ 69




7 Solve each of the following equations:

X a B a_
3 §+1:3 b 5—1—4 C 4+.2 6
d 6—1—1“9 7 e £+9=9 f El-—-6=5
4 B g7 3
LA q
T 10
Tao kom0 B
N S o PEoeE

8 Isolate the pronumeral in each of tEéT(mions:i_l R
- ot 8 x+5
a ? =2 b = . " : g
n—4 w—8 _ 5w
2a -6
s -6 _,
4+2x 4 h 3x 1:2 i 3
g = 2 )
3
2 i3 - 3p+4_ 1 Sy_zzmz
i Sk k== =5 2
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Equations and inequdlities

UNIT 12: Inequalities

QuesTioN 1. State the inequality that is graphed on each number line.

F a <) b .——)—-‘ _ c | o — >
| : > — : . > < : : >
| 0 4 -5 0 o 2
| |
|
|
. 2 10 6l 2 0 7
g | I -~ hJ | L | Lo 1 - | N T e
0 6 3 0o 2 0 3 10

QUESTION 2  Graph each inequality on the number line provided.

a x=3 b x<0 ' ¢ x<2Zorx>4
d z2=5 e x>-1 f x<-5

g -3<x<8 h x<=2orx=6 i 1=x<4

QUESTION 8 Solve each inequality and graph the solution on the number line provided.

a x+2<5 ‘ b a-3>4 c y+2>6
-~ > < > - >
d 4+y<12 ' e 18>8+x f n-5>6
I g x-2>1 h m-4<7 i 12=x-8
i . D B ' 1 —4<a+2
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UNIT 13: I“equa“ties 4 Pages 3842

QuestioN 1 Solve the following inequalities and graph the solutions on the number lines provided.

a x+1<3 b m+5>7 c 1-3<1

s i O I T O T R L T TTT T T D L O B
d p+5=2 e y-2=1 f x+4=6

.2 I I T T T R TR O O i T A T A ) O o I S T P O O
g 3x<l12 h 4p=8 i 6m<l12

e T O (s B R v I PR Y R I T T I e R o O O

X X

= — — <<
i 3=1 k =3 | Z=2

T T T T T T T TTT T AT T T I L TE i ™ Dl I O DL L

QUESTION 2 Solve the following inequalities.

a Gx<24 b Sr-2<18 ¢ 3x-1s5

d 3x-2=2-5 e 4x-7=<9 f 3i+lz7

g 6y-7<5 h 3(x+2)=12 i 4(x-3)=-16

j 206x-1)=28 k 8x<5x+15 I 7x-5=9

m-1<1 n y—?>2 0 %+%sl
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